14" September Morning Session

Q1. India became a Republic on

A. 15t August, 1947 B. 26t January, 1950
C. 26 January, 1948 D. 15% August, 1950
Q1. R, FI TF IORIST 7

A. 15 319T&d 1947 B. 26 SfeTall 1950

C. 26 ST=Tair 1948 D. 15 3{9&d 1950

.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)

Q2. 'Indira Canteens’, a scheme to serve cheap but quality food to public has been launched

in

A. Tamil Nadu B. Kerala

C. Karnataka D. Andhra Pradesh

Q2. # 3T Wt Y FEar AfdeT IS Auracar F SIS 3T FA F fav 3R ' awE deren
L& N TE 7

A. dffrer arg B. &l

C. Fellcah D. 31iYr gger

Q3. is known as India's 'Pink City'.

A. Bhopal B. Bhubaneshwar

C. Jaipur D. Ahmedabad

Q3. FY AR FT T[T AT’ FET A &

A. farer B. $[dwiva’

C. SR D. 3gHereTe

Q4. was the first Indian Governor General of Independent India.
A. Chakravarti Rajagopalachari B. Vallabhbhai Patel

C. C. Subramanian D. K. Kamaraj

Q4. TIdd HRA F YUH AR IGeX Aee |

A. Tghadt TSTIMATATIRT B. TealsTHTS ol

C. 91, gsAvgH D. . SHTHIS
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Q5. The city of Chandigarh was designed by:

A. Edwin Lutyens B. Ken Livingstone
C. Le Corbusier D. Scrutons

Q5. TENTe F RBeTET fFar 9T

A. TSR T B. ¥t farfiareeter

C. & HIgfaE D. Thead

Q6. The Battle of Karnal was fought in which year?

A. 1639 B. 1789
C. 1739 D. 1675
Q6. FAT HY 73T fFw a¥ Y 7§ o2

A. 1639 B. 1789
C. 1739 D. 1675

Q7. Who first raised the demand for a separate state called 'Punjabi Suba' in 1984?

A. Tara Singh B. Vaidya Singh

C. Pratap Singh D. Neki Ram

Q7. 1984 ¥ 'USITdl AT ATHS TF Hclel TUsT HY AT TG Tgol fhwrat 3o15 oi?
A. arr &g B. dc fag

C. udv &g D. e IH

Q8. Haryana state was formed on the recommendation of which of the following
committees?

A. Ranvijay Singh Committee B. Hukam Singh Committee
C. Dhyan Chandra Committee D. Prithvi Raj Committee
Q8. Fu afAfa Fr Rwier ww gRaon 57 1 75 B = a1?

A. oifiders g afafa B. g e @fAfd

C. &t =g afffa D. gt I wiAT

September 14, 2017

Page 2 of 28



—

.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
14" September Morning Session

Q9. Anita Kundu, the first Indian woman to climb Mt. Everest, belongs to which district of
Haryana?

A. Rohtak B. Faridabad

C. Hisar D. Rewari

Q9. ATET TAWE W Tgat ATl Tgell AT AfaT 3reftar F3, aRmom F v farer #r et arel 82
A. AgaH B. ®{ierere

C. fear D. Yarsr

Q10. Which day in Haryana is celebrated as 'Labour day' ?

A. Teachers Day B. Vishwakarma Day
C. Independence Day D. Republic Day
Q10. gRITon ¥ ‘s Raw’ Fw e A« svar §2

A. e fad & feeT B. faRas#T fgaw & foat
C. Tacaar fgaq & &=t D. I10Tei fead & fee

Q11. Who is the current health minister of Haryana?

A. Shri. Anil Vij B. Shri. Om PrakashDhankar
C. Shri. Ram Bilas Sharma D. Captain Abhimanyu
Q11. RN FT IIATT Farey FA FiT §?

A, sfaer o B. A 31 YR Yot

C. A A fyerd erAT D. edr 3ifeHA-g

Q12. is the present head of Haryana chess association.
A. Kaushik Singh B. Rajdeep Verma

C. Raju Verma D. Mandeep Singh

Q12. , Tt K gRATOT e vARATeE & wow g

A. i &g B. <& gAT

C. 5] aAT D. A=Y &g
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Q13. DLF Golf Course is situated in district of Haryana.
A. Sirsa B. Gurgaon
C. Faridabad D. Nimrana

Q13. 3.UA.TF. Meh FI gRIAOT F orer & feua 3
A. faar B. 9[37Ma

C. WigErg D. SR

Q14. Which of the following awards is constituted on the pattern of Bhim Award?
A. National Award B. Eklavya Award
C. Bharat Award D. Khel Ratna

Q14. FAFfaf@d # ¥ 9 EHR &1 7154, 7 EHR A vgfar T gam &2

A. TSI ERR B. Ueheled TREPR
C. #IRd REPR D. el Teel
Q15. are famous folk songs of Haryana literature.
A. Swaang B. Abhang

C. Kalbelia D. Raagini
Q15. R Wit & wfag o i &

A. Eaie B. 37ea1

C. Freafer D. Ui

Q16. Who amongst the following is a Sufi poet?

@

A. Gulam Kadir . Dhanpat Singh

O

C. Pt. Mange Ram

Q16. 5 & FIeT, vH A F §?
A. eIt e

C. 9fsd AR I D. &1t #7191l

. Baje Bhagat

oY)

. g4 &g
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Q17. Haryanvi language is written using the script.
A. Indus B. Rajasthani

C. Gujarati D. Devanagari
Q17. gRrordY smeT fafr &1 39T 3% A s §)

A. Ry B. ToTEATeT

C. TR D. Sa=IeRY

Q18. Which of these awards is not related to literature?

A. Bhai Santokh Singh Award B. Mahrishi Ved Vyas Award

C. Babu Balmukund Award D. Pandit Lakhmi Chand Award
Q18. 3 ¥ FleT AT WK, WfeeT & Haftra 71t 82

A. TS g g PR B. #gT¥ decard qEhR

C. 19 STeshe TR D. uf3d wge [REPR

Q19. Which of the following Kharif crop is sowed in maximum area of Haryana?

A. Maize B. Rice
C. Wheat D. Sunflower

Q19. RN F FAFaH & & a8 T It A1 WA FHT AT AT 82
A. FFHT B. o1l

C. 9% D. gsiHgEr

Q20. Markanda river enters in Haryana through which district?
A. Ambala B. Gurgaon
C. Faridabad D. Rohtak

Q20. ATEs 74! frw e & Yt RO 7 waer w4 82
A. 3rFaTeT B. zama

C. WIgETG D. Vgds
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Q21. Which of the following districts in Haryana state has the largest forest area?
A. Panchakula B. Gurgaon
C. Faridabad D. Karnal

Q21. RN ToT # ad ¥ f”y o & wad g1 a7 &iF 82
A.tiagw B. [seTia

C. ®eNEre D. STl

Q22. Where is "Sheikh Chilli ka Makbara" situated?

A. Hisar B. Rewari
C. Thanesar D. Karnal
Q22. "AW el T AR Fegl YT &2

A. fgar B. darar
C. g D. &elTel

Q23. Which of the following lakes is dedicated to Lord Vishnu?
A. Suraj kundlake B. Brahma Sarovar

C. Badkal lake D. Sannihit Sarovar
Q23. 3 ¥ FieT AT e, #oTaTeT Farsuy Y FANT 82

A. §TST%s 3her B. STEAT TN
C. el el D. Sfedfed TIaX

Q24. Which district has the highest literacy rate in Haryana?

A. Faridabad B. Bhiwani
C. Gurgaon D. Rohtak
Q24. TN ¥ Py S 7 FaRar g FaR A’fA+ 82

A. BeTETE B. framsir
C. I[zama D. Vg
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Q25. Who was the first Governor of Haryana?

A. Shri Dharma Vira B. ShriDushyant Singh
C. Shri A R Kidwai D. Shri Devi Lal

Q25. gRITON F YUH I Fid 4?2

A. & ad R B. & gsda &g

C. 3 U 3R fFeas D. 4 &t afret

Q26. Which Haryana state scheme is based on the concept of activity-oriented learning?

A. Lalan Palan Yojana B. Apni Beti Apni Shiksha Yojana

C. Beti Bachao Beti Padhao Yojana D. Mukhtya Mantri Shiksha Diksha Yojana
Q26. gRATON T At FieT A AT, PrATFATT-377@ AT At IraurROT W TR 8?2

A. ITeTsT 9Telel JTstell B. 379 9T 379sAT RIS Iisterr

C. ¢ SaT3iY 91 Y31 Jrst=lr D. HTT HAY fRI&T et Irster

Q27. Which of the following periods are hottest in Haryana?

A. July-Aug B. June- July
C. April-May D. May-June
Q27. 3aH ¥ 5w 3rafr & gRamonm & waw srer Wt gt @2

A. STelT$-39TEdT B. S-S

C. 3¥e-#8 D. #$-5fA
Q28. In Haryana, Urdu is mainly spoken in the district.
A. Panchkula B. Karnal

C. Gurgaon D. Kurukshetra
Q28. ghamon # o # 7Ew w7 @ 3§ Sl S ¥

A. daeT B. &l

C. I[zama D. FeaTd
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Q29. Haryana won the Krishi Karman Award for year 2014-2015 in the category.
A. Maize B. Sugarcane

C. Wheat D. Rice

Q29. gRamom Ht Sroft & a§ 2014-2015 FT F¥ FHOT [WEFR Fam|

A. HAFRT B. et

C. 9% D. &l

Q30. Pick the odd one out:

Donkey, Camel, Mule, Giraffe

A. Giraffe B. Camel
C. Mule D. Donkey
Q30. WA FT TIA F:

YT, FE, o, SUE

A. Sw B. 3¢

C. @@= D. arer
Q31. Find the analogy.

JHF : MKI:: RPN: ?

A. USQ B. QPO
C. EDC D. STU
Q31. AT g&|

JHF : MKI:: RPN :?

A. USQ B. QPO
C. EDC D. STU

Q32. What should come at the place of question mark (?) in the following number series?

0, 3, 8, 15, 24, 35, 48, ?, 80
A. 52 B. 63
C.72 D. 78
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Q32. farafaf@a Tear sf@en & e et (?) F T W F47 gl A1iRT?

0, 3, 8, 15, 24, 35, 48, ?, 80
A. 52 B. 63
C.72 D. 78

Q33. In a certain code, if blue is called white, white is called red, red is called yellow, yellow
is called green, green is called black, black is called violet and violet is called blue. What
would be the color of a leaf?

A. Green B. Yellow

C. Blue D. Black

Q33. s [Afaad :13 #, Il e F The FegT1 ATaT §, TG HY AT FeT AT §, AT HT GAT Fgl ATAT §, AT HY
& FET SITdT &, & FT FIAT Fegl SITdT &, HTAT DY A0 FaT F1ar & 3R Jorelr &Y e war srar & aY v gt &1
FT g1I?

A. 8O B. drelr
C. srer D. rell
Q34. Solve:

x x

—+4=—-—+28

3 4

A. 48 B. 49
C. 50 D. 51
Q34. g #X:

x X

—+4=—-+28

3 4

A. 48 B. 49
C. 50 D. 51

Q35. From a pack of cards, Rita withdrew a card at random. What is the probability that the
number on the card is a prime number?

A. 17/52 B. 18/52
C. 19/52 D. 16/52

September 14, 2017 Page 9 of 28



.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
14" September Morning Session

Q35. 12 F 4% @, a1 & w1 F oft v 18 Tovaprem| Fam Herrae @ FF 18 W AlGE dEA vE 9HE WEAT 82

A. 17/52 B. 18/52
C. 19/52 D. 16/52

Q36. 35% of X = 17500. Find the value of X.

A. 30000 B. 50000
C. 40000 D. 60000
Q36. afE X F1 35% = 17500 & aF X &1 AT A1 |

A. 30000 B. 50000
C. 40000 D. 60000

Q37. Zakir incurred a loss of 10% when he sold his car for Rs.299500. What was the price
at which he bought the car?

A. Rs. 330000.50 B. Rs. 329480.50
C. Rs. 346764.44 D. Rs. 332777.77

Q37. 39+l FR F 299500 T9A H I W AT FI 10% HI g1 g1 30 39aht FR FI et # wdar ar?
A. 330000.50 93 B. 329480.50 Tu¥
C. 346764.44 39 D. 332777.77 ¥9&

Q38. The phenomenon of splitting of sunlight into its component colors on passing through
a glass prism is known as .

A. Diffusion B. Dispersion

C. Diversion D. Division

Q38. TF FT F eH F g Toal W TF F THIT & 39 ged i 7 fnfora @ it gear A &
ATH @ ST ST

A. faEoT B. TER

C. Reafads D. fasterer

Q39. Methane (CH,) is in shape.

A. rectangular B. diagonal

C. polygonal D. tetrahedral
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Q39. MA7T (CHy) T F TSR FT a1 ¢l

A. 3mad B. faeoT

C. sg3a D. Idhelsh

Q40. During respiration, we inhale from the atmosphere.
A. Hydrogen B. Carbon dioxide
C. Oxygen D. Nitrogen

Q40. 239 % R+, g ardraoT § aa &l

A. gIseIel B. el 315 FATSS
C. 3iterasreT D. ATSersTsT

Q41. is the synonym of "jealous".

A. Calm B. Envious

C. Trusting D. Satisfied

Q42. is the antonym of "display".

A. Show B. Demonstrate

C. Exhibit D. Conceal

Q43. Identify the meaning of the idiom.

"Like there is no tomorrow."

A. Rapidly, without stopping B. Feeling dejected

O

C. Being too cheerful . Being careful and cautious

Q44. The sentence given below may contain one or more mistakes. Identify the correct
sentence.

"People who does not like cold weather are glad when winter is over."

A. People who do not like cold weather are glad B. People do not like cold weather, they are glad
when winter is complete. when winter is gone.

C. People who do not like cold weather are glad D. People do not like cold weather and are glad
when winter is over. when winter is complete.
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Q45. Complete the sentence by choosing the correct form of the verb given in brackets.

The cat (run) away when the maid comes.

A. ran B. was running
C. runs D. runned
Q46. i fr@ 2reg T YITHaATEY Ueg TS|

o

A. FUTER B. Sherrdr

C. B D. 33T
Q47. MY @ M ereg =1 AT (RAaer)ereg saE= |

39T

A. =T B. 3eThT
C.g@u D. Tgaled
Q48. A o 1 FeT F1 3fAa I FAd|

ER

A. UR & ¢ ST H T B. &fdeT FT
C. dATe §Tef glaT D. a&g
Q49. ﬁlﬁﬁm}amwagaaﬂa:rm

Fe T

A. =Tl B. HaTw

C. Ty D. HaAaTT

September 14, 2017
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Q50. Y@ ereg FT agaw Fard |
FAN & A agd W A ¥

A. Afer
C. Afe=t

B. sIET
D. afear

Q51. Which of the following summarizes the characteristics of a sole trader's business?

A. Liability is limited to the providers of loan
finance.

C. The trader has unlimited liability and must
have audited the business accounts.

B. The trader has unlimited liability and runs the
business in conjunction with the providers of loan
finance.

D. The trader has unlimited liability, takes sole
responsibility of management of the business and
no audit is needed.

Q51. fmafaf@a & ¥ Fia & TNRURY vevama A F sqgurr F Raf@a w82

A. 3T S1AcT Shdel KOSl & 9fa & AT o B

C. =Ry & 3 AAT eRcg gla & aur 39 379a @rar
3713 FTar=T 3aeTE BT gl

Q52. 'Cost driver' is:

A. An instruction from management to reduce
operating costs.

C. A fixed overhead absorption technique.

Q52. 'dmra ard% (Cost driver)' a1 §?
A. JTTSIT TR F el & folT JaeTaT garT STRY fager|

C. faRed a7 1 7 Ho & fav UG deelia|

Q53. What is an opportunity cost?

A. The cost of an alternative course of action.

C. The cost involved in seeking new opportunities.

September 14, 2017

B. SI9RY & 3ANAT e1f¥ica g1 § I 98 3191 sarIR
FRUTCTAT & T &7 TelraT &l

D. SRy & AT a1 8l §, SR & Fefaa @it
THFASIRAT shdel 3T & 2T & TUT 39 379 @il it
3Hif3e Fare & 3aeTEHar A8 g Bl

B. An activity which generates a cost.

D. A convenient point in a costing system for the
collection of costs.

B. ¥RTd 3csl el & [T I ST grell Ueh A |

D. ST cAGEYT H ST T sl el & foIT 3ugered

e

B. The cost of losing an order to a competitor.

D. The cost incurred in training new staff.
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Q53. ITET AR F4T gl 82

A. drfeus franfafr it amra| B. fardll 31T & 319t wfdieddy csaaarg & ard et &
AT
C. 7T 37T FT TATA H T aTell AT | D. 5T LT il YRATET et & 6T arell orerd |

Q54. Which of the following characteristic of an organization indicates current ratio?

A. The current level of profitability B. The future level of profitability
C. The investment potential D. The liquidity in the short term
Q54. et Wersar &1 T & @ &l A1 Faror adHT taaT FY qutar 2

A. STHETTRASAT &I TAATT TR B. weTeTRIehdT 1 s1fasT &7 T

C. foraer & &#ar D. o 31afer & =er fafer

Q55. According to which of the following options, a cash flow statement is required?

A. Company law B. The shareholders of a company

C. The auditors of a company D. Financial Reporting Standard No 1
Q55. faFT # ¥ e RFeT & ITAR yaTelt F1 favor smaeas 82

A. Foeir &t B. &Yl & RTURS

C. Fual & 3ifSed D. e Raiféer A wear 1

Q56. What is an ordinary share dividend?

A. Part of the company profits used to reward the B. Interest on money lent to the company by its

shareholders for their investment shareholders

C. An expense of running the company D. The directors' remuneration

Q56. Ts FTHOT AT ATHIL FIT gidT &2

A. YT o TS T T8 #TIT ST g 391 AITERDT i B. U=l & AIIYURHT GaRT el Y T 7T & I STl

3% PRU Fea F e &
C. Usi I Tl &l T D. fAeerert &1 aIis@Aw
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Q57. What is the double entry required to write off a specific bad debt?

A. Debit sales, credit trade debtor B. Debit profit and loss, credit trade debtor

C. Debit trade debtor, credit profit and loss D. Debit profit and loss, credit provision for bad
debts

Q57. ot faflrse sraew Hor F 92 W 3T & AT Fia d d vl i srargean gid §2

A. TshT T AT TUT KON S STAT AT B. SITeT GTfel &Y SATH AT KM &1 STAT el

C. %Ol I ATA TUT ST gIfel I STHAT AT D. oTeT g1l T ATH T 31ATET HKT & Yraelel &l STAT
FT

Q58. What is the obligation of the directors of a limited company?

A. Send financial statements to employees B. Send summary financial statements to all
shareholders

C. File copies of the financial statements with the D. Produce financial statements which are correct

registrar of companies in all respects

Q58. &t fAffes wuet & A & Far a¥ica gia §?

A. FATRET FF e favor fiser B. T3l QU &l faecdir [aawor &1 arier w1
C. ur IR & J1Y [Aedra faaxoi $r gfafaf #r D. 3o faecir f4aRolt &Y Tedd Hal it Helt ggel3it &
TTSe el SR

Q59. The payment of a preference dividend in a cash flow statement will be included under

A. financing activities B. investing activities

C. returns on investments and servicing of finance D. net cash flow from operations
Q59. TF YTl favor & qaifwr ametier & [T H fFas dgd gurT Srean?

A. e aifafaferar B. faaer &r sifafafear

C. faaer qr faca dansit &1 Reat D. reTelel & UTC Hehel AT

Q60. ABC Ltd is a subsidiary of XYZ public limited company if

A. ABC owns all of the shares in XYZ B. ABC is in a position to exercise 'dominant
influence' over the financial and operating policies
of XYZ

C. ABC owns the assets of XYZ D. ABC has given a substantial loan to XYZ

secured on assets by a debenture
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Q60. ABC fffies & XYZ ufeas fAfAes Husl $I g w9+l Fgareai Ife I

A. ABC & 918 XYZ & @l QI 8F B. afg ABC 3@ feufa a1 g & a8 XYZ &1 fodia v
SraTelel Heftre @l Afat X 9w 9T’ 3Tel T |

C. ABC 3fg XYZ & qafy gufcaal i ware g D. ABC & XYZ & §gd 31f&e AT 7 37T Hufed T
T 3R garT FoT T gt

Q61. The most effective procedure to reduce attestation risk is:

A. Discussion with responsible individuals B. Examination of evidence
C. Inquiries of senior management D. Analytical procedures
Q61. TIeTiheT F ANTFH Y FH I T TaQ T T FiT A1 82

A. 3Rt SfFddt & AT aTdTelr &t B. |T&AT T TIETOT Fh

C. aftss gaere &1 A D. faeeror gfghar

Q62. An inherent limitation in internal control is:

A. Incompatible duties B. Lack of segregation of duties
C. Faulty human judgement D. Lack of an audit committee
Q62. 3afts fAu=or & ve Afga dar &1 7747 et @2

A. 3reY ggfear B. et & GUFHIOT HT HAl

C. ST AT =T D. 3iffse |fAfa &1 el

Q63. Which of the following statement would be most likely included in an auditor's
engagement letter?

A. Lists potential significant deficiencies B. Explains the analytical procedures that the
discovered during the prior year's audit. auditor expects to apply.

C. Describes the auditor's responsibility to D. Limits the auditor's responsibility to detect
evaluate going concern issues. errors and fraud.

Q63. faw # ¥ e A1 gaaey frelt 3ifEer & Fgfaa o7 & Fuwew & wieafaa g
A. oo a¥ # 3iif3e & eRiel 3= arel 9@ HfAA A B. 33T GaRT cFagR & A1 STe arell T faeryor

Fellerg LT & wfshar &1 quie &I Bl
C. aHATH & HTT HIHS T Hedichel el & [T D. Irelferdl T eEmersy sy Sirer et i 3ifsey
3H1f3eX & IccRerAcd T faR0T T gl AR &I @ifAd #ar gl
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Q64. The most likely factor that would cause a CPA to decline to accept a new audit

engagement is

A. The CPA does not understand the entity's
operations and industry

C. The CPA is unable to review the predecessor
auditor's working papers

B. Management acknowledges that the entity has
had recurring operating losses

D. Management is unwilling to permit inquiry of its
legal counsel

Q64. fH CPA garT fFH av 3iifde F14 F) FlFR 7 FX= F1 Fa@ FHIRAT FROT &Y FFar § B |
A. 38 YT & HT AR 3T CPA & 181 A H AT B. YU o Ig TARR R g1 foh 38 el &l 9ar

ghar
C. CPA oot 313X & FrTell &t THsT & 39T &

YITolT ©TeT 81 @1 &
D. Y 39N Jenfaes w3fae &7 ST 8T arr
TTgel 8l

Q65. An auditor's expression of an unqualified opinion will be inappropriate, when:

A. The auditor is unable to obtain the audited
financial statements of a significant subsidiary.

C. There are significant deficiencies in the design
and operation of the entity's internal control.

B. The financial statements are prepared on the
entity's income tax basis.

D. Analytical procedures indicate that many year-
end account balances are not comparable with the
prior year's balances.

Q65. fret 3if3e ganT 3o I A FfAeaRFa Iqugaa gn, saf :

A. 3iifSe fardlt Agcaqet Here st & 3iifse fhe v
eI favor & ured ey H 31EHY gl

C. $U=T & TaRe [FIF0T & BraaT gur =T &
Se@AT HIAAT B

B. fadar [9aoT ol 96t & 3T & 3MUR W ST
IRAT BT

D. faRelvolcAs gfshar & A1d 8Idr & foh 9ga ¥ awf &
37T @ral FT SoiF Nod S99 ¥ Ao 787 @1 T 8

Q66. By primarily reviewing , an audit supervisor reviewed the work performed
by the staff to determine if the audit was adequately performed.

A. checklists

C. analytical procedures

B. working papers

D. financial statements

Q66. & TIfAT JeieTor & ganT U HifSe raser & I8 au« & fav fF 41 3iifdc e e &
&1 7€ oft, Terd garT fFT arw Fwit F1 gedaror

A. St 3= B. shraefier g&cast

C. fageivur gfgear D. e faaror
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Q67. An analytical procedure that an auditor most likely would perform when planning an

audit is:

A. Confirming bank balances with the financial
institutions

C. Recalculating inventory extensions of physical
inventory counts

B. Scanning accounts receivable for amounts over
credit limits.

D. Comparing the current-year account balances
for conformity with predictable patterns

Q67. FE HfFR fFd 33T A AT Fad TAT FUwAd av W Fia A feAvoreA+ wfsFar Fn?

A. Taccia SEUTeT o A1Y doh d5F ol FiaATed e

C. #iifaeh & @ 0T fhT ITT ATHATST Y Go: IOTAT AT

Q68. Duty of an auditor is to report:

A. Whether, in his opinion, the balance sheet
referred to in his report is properly drawn up so as
to exhibit a true and fair view of the state of
affairs of other companies.

C. Whether any director is qualified from being
appointed as a director as per section 274 (1)(g).

Q68. 3f3eT i 378 ¢ 77 Rule Fta fF:
A. St doie efie 3= 37aelr RO 3 I 61 &, &1 38

ITAR 98 TET e W T § o dhuet & @sh arer
T T Tl U d &l Il

C. &1 g &Y e 3reqesda 274 (1)(g) & TR
e ug w faged g & fov RuiRa degar w@ar g

B. &3 @ & 31fe T & fow e @rdt $r sira

D. THETAT g IAATT a¥ & Wl & Jid T g A
ﬂa-‘rﬁqam

B. Whether, in his opinion, the profit and loss and
balance sheet comply with the prescribed
accounting standards.

D. Every thing related to the administration of the
company.

B. ST 3GhT IF H 19 gTiey a2 o 2fie FaiRa oar
HTeTehl o TR IR fhT 97T &

D. FU=T & FgT O afad g Aist|

Q69. If there has been an over recovery of overheads, at the end of the accounting period

the amount concerned should be

A. Debited to the company profit and loss account

C. Carried forward to the next accounting period
as a cost saving

B. Credited to the company profit and loss
account

D. Used to reduce next period's overhead
recovery rate

Q69. afy fFdt sitaRgs i sarar Read g 1§ § af o 3rafr & gafea = s@ v : |

A. T & o1 g1fet Wi # Sfae &Y &ar =ifge

C. IR 90 & 9 7 39Tl o@r 373 & 31y of 3777
EIY
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B. &Uell & oITe g1l Wi H shisT & &l TIfgu

D. 31Tel 31af®r & 3Mates Readl 3¢ & ¥ "o & fov
TgFd AT AT
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Q70. Which of the following is the main purpose of a management accounting system?

A. Provide information for the financial accounting B. Protect the senior staff from criticism
function

C. Comply with the Companies Act 1985 D. To supply data and information to management

Q70. vaus aar fvew &1 Arafaf@a & @ gea g w2

A. R o@r srf & AT ST 3T SHiare B. aisa &l 3T & ST

C. hust 3fRafags 1985 Y o] L=l D. UetIeT T STeT Td HAT SYeTet] HIale]

Q71. A major function of management accounting is not:
A. Human resource management B. Budgeting

C. Cost accounting D. Internal auditing

Q71. YaUe AW I ey F & Fley a1 woy@ FA AE
A. #ATTT AT Tl B. Siolc Sellell

C. dmeTdg of@r D. 37dieh 3iifsfear

Q72. Find out Re-order quantity, if consumption is 70-100 units per day, delivery period is
2-6 days and maximum level is 800 units.

A. 300 units B. 320 units
C. 350 units D. 360 units

Q72. Y:-3TST Y AT A1d FX AR @I 70-100 Ifae wfy for, Befiadt srafer 2-6 e aur srfwasw Taw 800
Ifae F1 8

A. 300 Ifse B. 320 e
C. 350 gfae D. 360 Ifere

Q73. Which of the following statements would be a valid explanation of a favourable direct
labour rate variance?

A. The standard cost overestimated a national B. The standard labour time per unit was

wage agreement settlement for the production overstated as it failed to incorporate production

operatives in the factory. efficiencies made possible by hew machinery.

C. There was a cost saving as a result of a strike D. The standard cost did not take into account

in the factory during the year. changes in the product specification which meant
that in practice, less time per unit was needed for
assembly.
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Q73. fet # ¥ a7 W1 FUT UF HeTH TeaT HAoIGY X F HeW & fAw 7 sarean @i

A. BFel & 3G Halll T HASTGY HT Teh TSEA
Forey forefor awsila & At derd &
ITAT H TR gl

C. I & gRTeT theredl A S §3ATeT  PROT elFT H Al
S|

B. fd Ifeic AT ASTGY AT &I aedidehd § 310w
meuﬁaémﬁ;ﬁé;wﬁmgém
&THAT & ATY dTerdiel et & 3 THY IET|

D. ATeTeh AR & 3¢9 & faaxor & fFw arv aRad=r #r
QTS gt fohar I foraerT arcad I § o caagr &
Tl A Pl AT HA H HH THY I 3Tl
g3

Q74. If a company uses predetermined overhead recovery rates and at the end of a period
finds that there has been an under-recovery of overhead, which of the following best
explains how the under recovery has occurred?

A. Actual overhead cost has exceeded the amount
used as a basis for the establishment of the
predetermined rate.

C. Actual activity levels were higher than planned
due to an increase in demand.

B. Actual overhead cost has been less than the
amount used as a basis for the establishment of
the predetermined rate.

D. An expected price increase in the overhead
costs which was built into the overhead recovery
rate did not take place.

Q74. afk FE F9+it EfuiRa sitawes Readl a3 1 qaier w3 § aur 3™ & 3@ & 38 7 g @ & AR #
Repadl %7 g8 § o = @ 59 FU=T IR 50 72T F TaW IS TE F T o1 Fohell § 6 Repady 77 g8 82

A. TIETdh 3eREs oI Sged TR & 31t § i T
qEAUTRT &3 T T HA & AU 7T &9 F 3HaeTH
gl

C. #laT # gfig & T aEafas fafafer T Fafaa
TR G 3 graw A

B. areafdss 3Mawgs derd Sged TR § & ¢ i &
qEAUTRE &3 1 T A & v 7ol &9 & 3aeqs
J

D. 3Mates Reradl & & SR 3aRgs omerd A glet arell
ST gig T & gl

Q75. A factory requires 1500 units of an item per month, each costing Rs. 27/-. The cost
per order is Rs. 150/- and the inventory carrying charges work out to 20% of the average
inventory. Find out the economic order quantity.

A. 1000 units
C. 1400 units
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B. 1200 units
D. 1500 units
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Q75. wF thaedl F Bt smsea it yfaww 1500 I it smaeawar gt ¥, 9@F e AR 27/- T2
YeAF ST A ARG 150/ - T9A § TUT AT GATS T 537 Fol AT H1 Aqcael 20% &1 @€ ¥ Braelt #wvar & gw
AT FaT asEES we?

A. 1000 S&HS B. 1200 3515
C. 1400 5515 D. 1500 s&TS

Q76. The ledger entry for a favorable direct material usage variance is:

A. DR. work in progress account; CR. Material B. DR. material usage variance a/c; CR. Stores
usage variance a/c ledger a/c

C. DR. work in progress account; CR. Stores D. DR. Stores ledger a/c; CR. Material usage
ledger a/c variance a/c

Q76. UF IHTHe FeAaT WA 3UANT 3R & faw @ & = yfafte ghf?
A. AR Jo=Id oI H HIY ; STAT FTHAT 3TN IR Tl B. ATH T 3TN 3R WTAT ; STAT HSR TTT or@r
C. A 3vaid oW H F ; STHAT HSK Tram oIl D. T SR WIdT of@T; STAT AT 39T ¥ WTdT

Q77. Which of the following is most likely to occur where activity level is lower than that
planned?

A. An over absorption of fixed production B. A reduction in expenditure on fixed production
overhead overhead

C. An increase in expenditure on fixed production D. An under- absorption of fixed production
overhead overhead

Q77. Sl W AfHIAT T T AT Tt @ F § g8 W F471 @ Y Werraan §2
A. AT 3carea 3Naes &1 318 rgAvor B. AfRad 3curest 3aRgs W gleT aTel eI H HaAT
C. [AT¥ad 3cUresT 3Maigs W gl alel 3T H Falcadl D. fAfRad 3cdree 31aes &1 FHe 37aMNYOT

Q78. Among the following options, which is not a method of pricing raw material issues
from stock?

A. Standard costing B. Unit cost

C. Marginal cost D. Continuous weighted average

Q78. Ffaf@d # ¥ Fla a1 RFed weiF # ¥ T A A Foo WA F1 7o AuiRa ww i @Y 781 82
A. HTeTeh AT forefiroT B. gfeie & ot

C. 37e9 drId D. & #Ra 3
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Q79. Tom's company has sales of Rs. 200000 with variable expenses of Rs. 150000, fixed
expenses of Rs. 60000 and operating loss of Rs. 10000. By how much would Tom have to
increase his sale in order to achieve an operating income of 10% of sales?

A. Rs. 400000 B. Rs. 251000
C. Rs. 231000 D. Rs. 200000

Q79. 1\ $ Hush 1 A 5. 200000 ¥ TrEH s8F TRadf @7 5. 150000, AT =99 5. 60000 FAT
YaTer gifet 5. 10000 1 I 1o Y 3raelt gamerer 3 F sy & 10% #r gig F g ot 39 raeht foshy et
Fere gri?

A. %. 400000 B. %. 251000

C. %. 231000 D. ¥. 200000

Q80. Among the following options, which is an example of direct labour cost?
A. Supervisors' salaries in the factory B. Costs of the payroll accounting section

C. A bonus paid to the store man D. The wages of an operative paid on the basis of
output achieved

Q80. farafaf@a fawedl # & wewer ASGY AT FT 3eTeT0T HieT AT 82

A. therell & FURATSSR T dclel B. $[ITclleT oI 3TTHTIT T oITaTcl
C. TR & ST &1 $ITcT foham 17 slers D. 3UTTSIT 3M3eYe & JTUR TX el Hofegy AT HATRY 1
ERC]

Q81. Production overheads are absorbed into production units by the use of an overhead
absorption rate. Which one of the following best describes how the absorption rate is
calculated?

A. Total number of units produced divided by the  B. Total number of units produced multiplied by
total cost centre overheads the unit overhead cost

C. Total cost centre overheads divided by the cost D. Total indirect costs for the business divided by
centre activity level the total number of units produced

Q81. 3cuTee It # IeUe NaNES F AL AWM &X & FAWT ¥ 39t # raenfia w3 o man ¥
FEAMNYOT T Y 70T A whirar & faw Feafaf@a & @ Fia a1 Fya ga@ 70+ s9gaa gom?

A. 3cU1TeT Fet Ffetel T FEAT Y Fel AT Hfowd B. 3curfed et IfAeT i HE&am 1 gfae Nawgs aerd @

3TaREs @ 19T &t 0T AT
C. el AT Hiead 3ees A AN Hiegd Afafafer D. cFaETg T Fel UHET IR T Fel Scdlied Ifarel &
TR A AT ST 3T T
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Q82. Among the following options, which can be considered as a direct material cost of a
motor car wheel?

A. The metal used to manufacture it B. The metal used to manufacture one of the tools
used in the car wheel factory

C. The cost of operating the raw material stores in D. The cost of the quality operation on the

the factory finished car wheels

Q82. Arafafad Rwedl # ¥ FY vF FR & IRT A YcTaT ATT ART ATAT ST THdT 82

A. $8% 3cdTee H ofdlel aTell 1 B. X & UfRT FI theredl & g1 @1 Il 3SR & &
forelt T o 3cdTesT 7 et ATl Urg

C. theedl F e AT & YTl H o976 gTell oITeTd D.W%Eﬁg@m@rwwmﬁmm
ICIG]

Q83. Which of the following methods of absorbing overheads is likely to use for a labour
intensive assembly department?

A. Direct labour hours method B. Direct labour cost method

C. Direct material cost method D. A percentage of prime cost

Q83. frHt de T rdaelt RFsmer ganT JHawes F AN F F v Aeafaf@a # sia @ [t 2 @99 &
A AT ST WFAT 82

A. ScTeT Holgdl goe fafer B. el Aol ol fafer
C. YcgeT Aol ol fafer D. HT SI1aTel T FTcAreT 1T

Q84. The tax which was collected prior to 1st July 2017 from the state where the movement
of goods started is known as:

A. VAT B. Excise duty

C. Central sales tax D. Service tax

Q84. S 1 JAT§ 2017 ¥ Tgd FX U7 AT IAT UT, 36 TUsT § el ATl Y HTATTET X HY ATl § 38
T & ST AT §

A. & (VAT) B. TeHETSST 3T

C. &g feshr &Y D. §a1
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Q85. Which of the following is a capital receipt?
A. Sales of technological know-how B. Bonus shares

C. Compensation received for compulsory D. Dividend from investment
evacuation of place of business

Q85. Fafaf@a & ¥ fFd geft Wit wwar smea ?
A. TTehalTehT STTeTehT ST fearshr B. sletd R

C. SIIEY F TAT &I IIRE HROT & BI5a W Aol D. fH3T F e gl arer amemer
arell gollall

Q86. An individual is said to be resident in India in a previous leap year, if he is in India in

that year for a period or periods amounting in all to days or more.

A. 182 B. 183

C. 60 D. 150

Q86. it safFa v fera g o & s F1 fvarelt AT SEAT AR @Y 37 A F 0N A T &=t a&
3ryar 38w A" Rt aF wr e

A. 182 B. 183

C. 60 D. 150

Q87. A firm, trust, club is considered as a resident in India only if it is controlled:
A. wholly outside India B. wholly or partly in India
C. partly outside India D. wholly in India

Q87. ¥ ot B3, T AT FaT HRA FT AT I3 AT ST § FTafw 3@ AR BFar sw:
A. 90 TRE | R & T16T B. ¥ o & 37T HifRkleh &7 § R &
C. 37 &7 @ AR & D. T oRE & R &

Q88. When will an expenditure incurred by an employer on medical treatment and stay
abroad of the employee shall not be taxed?

A. an employee whose gross total income before B. an employee whose income under the head

including the said expenditure does not exceed "Salaries" exclusive of all monetary perquisites
Rs. 2 lakhs. does not exceed Rs. 3 lakhs.

C. an employee whose income under the head D. all employees irrespective of their amount of
"Salaries" exclusive of all non-monetary gross total income under the head "Salaries".

perquisites does not exceed Rs. 2.5 lakhs.
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Q88. I F$ AAFAT 3r9ar fFlt Foary F AU F g FT FATST FIA FT @ dgT HIAT ¢ o) 7y afa & s«
Y I FT AGT SANIM?

A. 38 FHART & ATHC A [T Fel AN SHTTE B, 30 HauR & A & Tahr 3imre= qaf e
It 2 I T9Y H 31 8T &l aﬂmﬁzﬁa"éﬁ"aﬁéim3mmﬁma
gl

C. 3¥ FIIRT & AF & oy 3 @oft I-#7ifgs D, "aaa" ¥ & dgd Tl 3T &7 TR il eI &§ @
eIl IR "AdeT" MY & ded 2.5 @ T q w9 Fel oAy
8

Q89. The Focus Market Scheme was introduced in:

A. 2003-04 B. 2004-05
C. 2005-06 D. 2006-07
Q89. BT AThE THIHA FHd A I 7§ :

A. 2003-04 B. 2004-05
C. 2005-06 D. 2006-07

Q90. Which of the following arguments would be made by those who oppose a
constitutional amendment to require a balanced federal budget?

A. Deficits are bad because they can cause B. Such an amendment could force the

crowding out. government to undertake policies that would
increase a recessionary gap.

C. Deficits can cause inflation by increasing D. Budget deficits can cause an increase in the

aggregate demand. trade deficit by appreciating the dollar.

Q90. TF Hdfad HeT Foie & fAT Jraeds waenfas weue F1 A0y F3a ara o fawar & § i @1 a& &
A. ST 0 & Fifeh 380 SIE) Hufaral et of @bl &1 B. V8 WM § FIhR W) QAT AT STed T gard doian

ST #4r 1 @rs 3R 9 Srwat)
C. "R § HaEhIch 96 Fohell § @@ Tl AT A gfy D Foic °1E F SleR &1 Hod §¢ Fehell § fIEY AR €1
grefr| A gig g
Q91. An increase in the money supply causes:
A. Interest rates to fall, investment spending to B. Interest rates to rise, investment spending to
rise, and aggregate demand to rise rise, and aggregate demand to rise

C. Interest rates to rise, investment spending to D. Interest rates to fall, investment spending to
fall, and aggregate demand to fall fall, and aggregate demand to fall
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Q91. traTyet # iy ¥ F7m g &

A. sTTT X # alt, Aaer eaa & gfe, qur aohel AT 7
gig

(4

C. sa1ef X # gfg, fder saa & el qon woher AT
FAT

Q92. Each short run average cost curve:
A. Has to touch the long-run cost curve

C. Has to lay above all points on the long-run cost
curve

Q92. YAF Heurafer it omrd a% & :
A. Sretafel JreTd ash T el A1feT
C. Saaf® aerg g & el a9 & FW glar aiee

B. sl & # gfe, der o # gfe, qur dher Al A
afg

[

D. SIS &I H dall, e eag & Fall, qur Tehot AlT F
FHAT

B. Has to cross the long-run cost curve

D. Has to coincide with the long-run cost curve at
lower point

B. raTafey ARTT Ish &l IR AT A1eT
D. %t Neg X Srafafer ameret as & Mot =nfew

Q93. Marginal analysis rests on the behavior of:

A. Costs revenues as production is started or
stopped

C. Costs and revenues of an additional unit of
production or sales

Q93. {& fyedwor fFw X ey gvar &:

A. SIIETd ST R ST 3cTee YT &1 37aT HATC g

C. 3ifaRed g & 3cureat 32T fashr Sy omerd T Tsred
ey

B. Variable & fixed cost and revenue as output is
changed

D. Costs of additional production but not
additional units of sales, since that is marking up
pricing

B. IRadl @ REUT ST T Isied W F3ifeh 33eqe
Fee ST &

D. farshr & 3rfaRera gfaie 1 3curest T wfrerd ) it
SHY Hedl &l R frar s @ g

Q94. What is the meaning of devaluation of a currency?

A. Reduction in the value of a currency vis-a-vis
major internationally traded currencies.

C. Fixing the value of the currency in conjunction
with the movement in the value of a basket of
pre-determined currencies.
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B. Permitting the currency to seek its worth in the
international market.

D. Fixing the value of currency in multilateral
consultation with the IMF, the World Bank and
major trading partners.
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Q94. a1 F HIHAA FT 74T 7Y 2

A. 8T HaT &1 eRTSET SR H SR 6T ST arell B. HaT & Hed &I ICRISAT TR A Sileal & 3t |
Hel T Tl A Hed A Sl

C. forelt 7eT & ou  WAUIRA AT F Aea M AfA F D, AT & AT I 3. 0A.UF., faeag d& qur Ageaqor
ATy g FHET| wa@aﬁ*m&agqaﬂwwe‘rﬁ%ml

Q95. Which of the following would cause the demand curve for automobiles to shift to the
left?

A. An increase in the price of the automobiles B. An increase in the interest rate paid to borrow
money to pay for the automobiles

C. An increase in buyers' incomes D. An increase in the cost of production of
automobiles

Q95. IEAEET & AT IF H 91E NP o F foav AFAfaf@a & FiF a1 FROT Icaerh gem?

A. TS & Hoal # gig B. 3CIHAISTSS g IT STiel aTel 0T &I YehrS Silel aTell
sareT &3 7 gRY

C. Sl T 31 7 i D. 3frATaTSe T Scures orerd # i

Q96. National Income is not calculated by:

A. Income Method B. Expenditure Method
C. Product Method D. Laffer curve

Q96. TS 3T FY ITAT Fad ganT AT Y JTelt §2

A. 3T Tgfd B. =¥ 9gfd

C. 3cure ggfd D. AT &d

Q97. The Accounts which represent intangible assets are classified into which among the
following?

A. Personal Accounts B. Impersonal Accounts

C. Real Accounts D. Nominal Accounts

Q97. ¥ Tt 3t 3o uRwufeaat 71 wfafafey w3 §, s @ frw @  aeifgra fre ama #2
A. 3ofFas @ B. daferas @

C. ar&dfds @rd D. ATHATT @i
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Q98. Minimizing the chances of errors & frauds and enhancing the efficiency of the
employees are the objects of -

A. Internal audit B. Systems audit

C. Internal check D. Surprise check

Q98. FR3T 3k yrETuft F Fyercaw FIAT IR FHART A FrAaTHAT TITAT FHEF 3T § -
A. TR of@r wieTm B. freea orar gdietm

C. 3iafte® sifa D. 3M&iEA® AT

Q99. In which of the following cases there will be no difference in profit as shown by
marginal costing and that of absorption costing?

A. When opening and closing stock of finished B. When closing stock of finished goods is more
goods remain constant than its opening stock

C. When opening stock of finished goods is more D. When closing stock of raw materials is more
than its closing stock than finished goods

Q99. s ¥ frw A A, HieATea® areTa-fAuer 3R srgeior ArTa-fAURoT GaRT gUTT AT AR, AT A S
3aR 8T gm?

A. ST IR AT ST IRTAS 3R 3ifad wefe 2R g B. ST§ IR AT & JATdH Tleh 3Hh IRAF Tl &
W/aAT R 3F &

C. S9 JIR AT FT YRIAF Tl 3Tq& A Telh I D. 319 e AT HT 3ifaH Teld IR AT & 3170 gt
KIBEd

Q100. Price effect is the sum of which of the following?

A. Consumer's income and savings B. Consumer's income and expenditure
C. Income effect and substitution effect D. Production and consumption

Q100. FeT JaTa 31 & fFraat A 82

A. 3T8YFAT Fr 31T AR T d B. 39T & 31 3R 7T

C. 31T g9 AR gfdedae gemra D. 3cuiest AR @ud
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